(1) GENE
L Directions : Choose the wore & Diroctions: In the followin
ﬂr"ﬂEiTEhm“ﬂuh. . give : C e rnatives choos
Fﬁm = 1 his masanineg of t

It 1% high tirme / thai we sond /
iy im

)
s mrm=m*dmmnmﬂhlﬁm hlrﬂl!‘lwdm

{b:t?;':mhhm“mnﬂi Choose the carreet | |

By fits and starts

(0 incompletely @  suddenly
@ irregularly () wooesusfiul),

Directions (4) and (8) : In each of the followin,
sentences improve the underlined part with the heip

of given options
Directions (9) an
4. Nosooner did the police arrived than  1he | ""'008 by usis
robbers made good their sncape.
(1)  Nowooner the police arrived % He Bve Rkt
(2 Nosooner had the police arrived ) -
(@  Nosooner when the police irr ved (¥}
(4} Nosooner did the police arrive ey

| 0
B Fuhall have much pleasure in accepting:
Jeind invitation to dinner,

() I'mayhave much pleasure
(2) 1 have much plensure

#  Can't have much pleasure
(@) Tam having much pleanure.

i as

'-.'__
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(2) GENE
Freafisfim & & swypg wen e #7

() = ol et v e
@ T mEE "
@ T T s W

(4) %% w1 T =w g o )

‘T = =i .
®  fah @ e
3 feaw g Tt

Frefafar fowedl § 3 Wt vl s W |
E wifay ; 18

(n =M (& TamEe

[Ei F=i “h TG
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Whach .irhefnlhmn:uﬂ'lrﬂrlﬁllﬂ' n
that has made roof top ranwates harvesung

structure compulsory L0 all the houses acrokd
the State ”

() Kerala

@  Maharashtra
@  Punjab

i$ Tamil Nadu

Who is the founder of Grameen Bank of | 5.
Bangladesh *

1) SR Hashim
@  Mahabub-ul-Hag
i@  Mohammed Yanus

i)  Mohammed Talib

Which ane of the following is not the form of
precpitation?

(1) Absolute humidity

@ aundall
] et
{dy Fimil

0. When was Goods nnd Services Tax (GST)
introduocnd in India®

(1) duly, 2017

v January. 2017
i February. 2017
i Apnl. 2017

Which of the fui.hﬂu;ﬂnmﬂn_t“ﬂ i
i of Drelhi wis ydentifind bY Ihﬂmﬂﬁ
grentest

() [helti durwazd
PP Mundwi dnrwhen
Gl e e

( Dudsundarwas

18AT
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PART-1I /

(3) COMPUTER LITERA
4. Which of the following are Indian IT | 41
companies ?
() DELLandTCS
(2) Intel and Wipro
(3) Intel and HCL
(4p HCLand TCS

42,  What is common between the following ?
Facebook, Twitter, Instagram, Pintrest

(1)  All are news websites.
@ A]lmlmmh]lfmmﬂlrk'ﬂh

gence is the science snd |

1 intells
“w At eene
() making intel 0
o =
Mdﬂ“’ ,{.}nﬂfm’
Only
(b
f; Bﬂl‘hiﬂ.rﬂ
1  MS-W
. ] 18
ﬂ,,.uﬂ"""“
ar :
B e
(3
@ |
-aAT . - .
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PART - 11 / v - 11

(1) PEDAGOGY / forammome & o 3 3R T
51.  Which of the following are imiportant barriers | 51, if
in the equalisation of educational w'ﬂ'?
opportunities * ) H“Mﬁmm#m
() Differences in economic states of learner I {mm
(b}  Gender disparities ®) b gt
@ Common school wystenn (e ﬂm I 4
)  Differences in the standards of () m* FR
educational instatutions ’
Code ; e
. (0w 3he(h
(D) (w)and (d) s
@ (@) and( @ (a),(b) .ff-ﬂ
G (), ®and @) @ (), (b) ¥ (d)

) (a) (b), () 58 (dy

9 (), b), (¢) and (d)

62.  What s not o major
concern of the school on !
the development of child’s Inu[uim
cunpetenon ¢ Y

p iummhuﬂmmmm

@ Enhancing vocabulary quantum

@ Ability to use language and create

@ Tothink and communicate with others

58, You have administered a text I
to class V, most of the u:&muml:ﬁu |
have t construct and administer anather tygt.
Which teat would you prefyr 7 :

()  Bummative test
(2} Mastory test

@  Dingnostic tost
1)  Formative test

i Micro teaching s n technique used for+ |
() teaching small sizod clans
@ teaching in u simuluted condition
3 wﬂmﬂmmﬁcmm

@ tnaching difficult concepts

.r-;l.-r S
. - | C.q;
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57.  Which of the following is nglcharactoristic of I

the socially and emotionally mature person ?
[“’ He makes eanfors it'-r to aAccinl
expectations his prinary goal.
2 He s relatvely free from anxicty and
@ Hes eapable of exercising oontro| i the
face of emotional stress.
@ He hae n sonso of humour and positive
T outlook on Life.

!

Emotional response to symbalic imuli is
primarily the result of :

(1) maturston

2) Jearning
(@  admstment i

) incrensed snsory perception

1
u

C-12
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Thl‘ l"‘[-11|._!'ap1 -
Plan) s not

(1) current af

2 mdividual @

(3) use of coope

"-9 separating children
grouping

A generalised view or cha
to be possessed hy
ondtitutes

1) gender roles

(a gender identity

{3 gender disparity
(4} gender sterectypes

What can not be visunlized ns a

teacher in teaching through problémn

(L Creaung the problem sitaptao

(23 Assist students in perceiving, o8
and stating the problem.
Assist students in finding appropris
golution to thss pru'hlt.'mil

Creats fear free ntmosphere in the clnssS

A child takes o favourite book and retells the
.-Htl_rﬂ'l aften by using picturcs as cues mi “_:r:
P l'l-'H;E' ga/atage/compone at does shelhe
demonstrates 7
(1 Narrative

Syntaciic QWAreness

FEmorgent rending

Phonological oW nrencss

;s mot n mode of

following

Which of the i Loarning?

Computer ASSE

i1 '|'[“l'|l'lJ.li

e Sessrnn
2) Drill and Practc
p

o a d L I nwi ik
I Ilt ()4 -.“i
l.}‘t i lll[l | Jlil iR ...I'q.ﬂ. i ]

i .
P Conclusions

bl '\I
i

{ &

Wy =t i'n

63, Fraferfen i 4 w1 T

) i (Rt
(&) W  snam w (T v tfeea A
& ufesmm (wikfem) |

st 1 e wom aw e
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B4 The best way to M!mw rewponse ol
studemt would be
() o explain lhmm””"r i dhetal
ji EIEERY _
@ o tell the studept RhaL your answer 8
W
W o sek aoother student b give the correet
Ve
() to expliin and e another chanes W
v inswer
(8
Match the teosets et « | indscntos stagesal
oogmitive developmoant m By # mionde] wml
Set - 11 indicates guscorated sharsctanstics
Select the correct code (o represssl Your
nrewnr
Ser - | L | i)
Sonsori-mato || (i)  Reversshie
thinkuny i
Pre-Operabionnl = il by
r.h RS Tl T
Comnorete Operatsonnl el Eeorntram L
Formal Uparntanal tiv) e uermy
TJ.I|||.-.' b1 Ii_‘j
W B
tanks
(vl ey sl

AWaremns

o wam-&“‘*”‘ﬁ“'
m Mﬂi‘tm‘ﬁ"ﬂ“ fyee

Pl .
@ o f
o Wi
W R =
wEA A

41 & e fri v B W0 A el =
shaves fokm W g v @ A0 uf
it i fa W g & o
il 2 ) S W
ALl

it v (i
( Wy W)

ool wE ()
(ot s
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-l"'h“

LY

N I ,,'Q‘L (1 @ o0y %
. & @ 800% 00N . :
.'?

- i 88 Pick out the correct state ment i

]
r:h-‘,* (1) Burning of fuel is i physical chnngs.
¥
d L .|
n @ CH, HO). CFQC ete. are not green
C house gases
g B
w _‘\- Iy 1
L:._. ._,E id) ( :‘].L‘Jhlph'_'.'”, a -Fn'l'll coloured plement, ;
# ncte ae a catnlyst during photosynthes i '
41 Ulraniom - 235 is non-radioactivieg
B

(v Hl'ﬂ-'ﬂ

d“[ﬂ %
i !

r hos o veloaity of §

=~ R FE AT 2 me
ith an dons | \ W'Hj*ﬂﬂ“ﬂmlrl :
ol 4 . the scooteERAS 3 g et 1 2 2 o0 #2

At time t=0, a #c00
21 ma " [tslows dow
of 50cm s~ 2 Atthe e
travelled -

-

(1 B0m 2 S4m mn “ﬂ :f: 84 n
A ’ :mn ] I”I m
@  100m W 104m m .

N 92 10 kg T=HE H W 7% 5 m- | 5 @
Mm&mlﬂam;mmﬂm mt' ﬂﬂm#’ Hra T = “

of 5ms~ 1. Ithe ]m e bk B ;
the Shange in kinetic energ of the shjectn | % ) e w o e o

Urrgan that trmnaports il :
human body is
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(. 10m @ 2m
@ 7om @ 1m

Which e ix o wrong statement?
. mﬂmmnm P
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ity  Omly(n)
@ (bYand (c)

(1)  SeaOcean
@ Snow on mountain and near poles
(#  Monsoon rain

(4)  Ocean, snow and rain, underground
water

102 Anobject covers two consecutive el distanee s
with speeda v, and v, The avernge speed of
the ohject is

vitva @ Y1va
a 2(‘!. +¥Va )

)

Viva ol 2w '3

'|'I"‘l.'2

108. Which compoundd
hyvdrocarbon #

(1) Buta

(2
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M2 1n AABC. the sides AB and AC are orates dto,

Pund Q, respectively. The bisectors of ZPE

rA and ZQCB intersect at s point ©. 1 /A 56,
'# thin ZBOC equals -
A 1 x [H1 T &
® o6 G
118. A certain sum s distributed among A, B, ¢

and D in the ratio 3 4 B Brespectively. If
the shure of C 1= T 2,820, more than thyt of B,
then what is the sum of sharesof A and ) 7

(b Th.460 @ Th640
(@  T4.564 @ 6345

114, In & circle with centre O, chords AB and CD

are parallel chords on opposite of 0. If
AB=20 em, CD =48 em he distance
botweon the chords is 34 cm, en eter
(in em) of the cirele is
( 26 ) 39
@ 42 4 52

C-22

o
n|'.

1,

114,

o
(N

ﬁﬁﬁl&,ﬁ.ﬂﬂl‘thﬂﬂ:l:!:i:
w12 a & WECH B E wm Ao ol
aﬁmtmaﬂtnﬂrﬂhﬂmmmﬂm?

() Th.460
)  Tan64

L4
)

T 5.640
T6.345

hnnﬁwwﬂﬂﬂmmmm
Mz t?l;i:ﬁ‘ﬂhaahﬁ-lnfl uf
AB=20R5, CD=48 A1, shw simsif & o
W58 34 A, 8, @ e a0 ¢
(h @ 39

@ 42 @ =&
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PART-1I1 / S - 11
ONING ABILITY / mif&$= drgar
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i
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g
f
g::
#
i
d
i
~ 8

n

(K]
5

AT telated 1o | 3% FENS 3, 4, 5 @ wwy e oy e
L2 3wMEE L 4. 098

M .61 @ 3.8 25

@ 3.16.25 @ 916,25
YRROUGH WORK /e ®Td & T wme. 15
E! "'I’i € ¢s At B £1 B _F‘
pINE R 1T Fe 7 Hr I8 I°

kn L M N iy

pn @ wze SN g
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Jas

. Raman sold an arti

wold for ® 150 more, B8
14%. I he hod sold'd
percont would have bel

th 4

11 20% of 51
20% ol ¥, tna
thany 1
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1A Oboe of the fnctors of x3 - A+ 2x-24a

(1 !"-I“I
i 'I-:-l:-l

i
b & |

-y

(Z)

126

'hudmrm-:rrnﬁlw hase of o right crrcular solid
erlinder in 14 con and it

& valumi 1a 20002 ey ?
total surface aros of the exlinder iin cm?)

-['r.t..:-“;*';
M a0 @ san
o L o] i) 2
three times ns old s
years hence, twice her
ﬁnﬂmul-htnfbm
muhmﬂﬁ-mm
and ber daughter ?
32 5ears @) B5years
) -

126

127

Poddige-r STl TR W Y

LB

i l.lrttl
m f-x-1

i e e e W R
:‘mm mmtt'hm

& Foxe)
ih l'fl""l

i W, ﬂq-iﬁ*g&
qhtm:‘lltmi
n&pﬂﬂﬂqiﬁ

o | ﬂ;ﬂl“ﬂ‘**ﬂ .
L 71

m  sowd
m azwi

@ saw
oo
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130 Thmmh!hunlhwndn r.

lhith
i s
i S | q
& 2.3 e
i mtﬂiﬁm,m-m
li'ltmp}un.&
0 Ton .
@ 7w “) m
a mmu:*w
B Hill Slopes
@ Gentle Plaing

@ Glacial Mowntain Peak
4 Consta) Lands

Population

133, uﬁ:ﬂmdimmm&mdlﬂhtﬁid\ one of

Erowth rate is applicable for India during

2001 - 2011 »
W 1664% @
3 1825% ()

184 Torrid sone lies between which one of the

following latitudes ?

(1}  23%"Nand 23%*S
(2)  28%"Nand 66%" N
(@) 23%'SandGEW S

4) 66%°Nand 6645

C-26

17.64 %
19.34%
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.-‘mlﬂ“ﬂrf:h}'. peo

plll Can P
th takes di‘l.'."lﬂh-nq the

People do g

Wt
e Proceas of e

rﬁp“*ﬂmuﬂ;ﬁﬁ -|_FI.|1_||-_13.|-|“

tq Census n_t' India 2011 which one
BEX ralios 1= correct for Indin 7

910 Females pier 1000 Males
B20 Females per 1000 Males

840 Foma)e par 1000 Males

v 980 Femules per 1000 Males

e EHT'HI!'.'-' of the Gram Sabha is elected/
PPinteg by

~'m Mombers of Gram Sablia

L

Villagy-ward members

% Members of Gram Panchayat
th

W

{ i‘lwrmn“—- Ot ajprpanles
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v cotrembingmmal] i botn of bed neing
le tonls and more Labour in the pluiae nre
wrfaeed ypder winch one of the followiog
of Barmng ¥

Promative subsstonos agricoltamr
Inteibstye sthuistence agriculuare

I Commercia] farming

I Shifting cultivekon

According to 2011 consus. which one of the

fallow ing figures shows the population denvity
ol Imiin #

(Ii ner personwusg. km
20 375 personwsg, km
W]

A8 pervonsisg. ki

14 130 P rinsag. km

141

Which one of the following agancies rung the
Public Health Care Systom ? |

(I Private Modical Institutions

(2} Governmental Agencies
h Non-Governmentil Organiss tions
M)  Medical Practitioners

142 The Ninth Five Year Plan was implemented in

188,

140,

1L

4L

the country in which one of the following
years ?
199 @2 199
h 1997 (4) 1998
'-28

gﬁtmﬂfﬁf'ﬁwmmh

1y i T

@ e e

@ i

(1) e

o1 Feer s swgen Frefefim o 4 v
& avvin e W Tt § 7

(v a2s =fwE

@ 47 ey R

i a8 sl e

() 4a0 wiEEl R
m;mhmnm-ﬁ
(1) ol ferfe ey

G

@ e s

() mw )

0 i S g 4 4 v
o s w g )

(1 1995 @
1997
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o e of the following 1= known as standard

=

sheratian for Indus
& East (2)  82%* East
ih" East (4) HT“I El it

E
%3

1‘|-
-

1 earallels

are drawn/marked at an interval of
oo drgree. how many O :

fthem would be in north

:r:ﬂpt‘xn"’ mm
5 @ a0 El} H
h 9 (4 180 @ o
i Communit¥ l.undmm-.:nihdu
11 Common propers . MOUTFOE
= Priv-mpﬂ:pfm‘rrﬂ"""
m'rr-ﬂu!'“’

fathef
T “
. ]
How hel'd
=y of the f it
L mhlr:;l:u B cunil““! 0
ﬂll“;u.
an
0 sohanda® H“rmch
pedknf
@  Blum R8P AR | b !
aharf
i) Pandit Ja i p.mﬂ

4 Sardar v

18A7
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